
Imported By: Forward Industries, 33401. U.S.A

Product Ref-HM-WB005-001

Issue 1  -  09/09/21

Rocko
Workbench With Pegboard

User Manual



����

������������������������
������
������	������������������������������������������������
���������
�����������������������������������
���������������������
���������
���	�������������������������	����������������������������������������

����������������
���������������������������
�������
������������������

�����������������	�����
������������������	����������
�����	�������
�����
��������
�������������
���
�������������������	�����
�������������
�����������������������
����������������� 
���

�����������������
��



� Peg Board Qty 2 
(43.9*5.9*0.8")

� Suppor�ng Bracket 
(right) Qty 1 
(23.6*1.7*28.0")

� Metal Bracket Qty 8
(1.9*1.6*1.6")

� Suppor�ng Bracket 
(le�) Qty 1 
(23.6*1.7*28.0")

� Height Adjustable 
Foot Qty 4
(φ2.4*2.2")

� Rear Stretcher Qty 1 
(37.8*0.6*2.6")

� Leg Frame Qty 2
(35.4*21.8*2.0")


 Table Top Qty 1 
(47.2*23.6*2.8")





 Shelf Qty 1 
(43.9*5.4*0.6")


� Shelf Side Panel Gap
(right) Qty 1 
(5.2*2.4*0.6")


� Shelf Side Panel Gap
(le�) Qty 1
(5.2*2.4*0.6")

� LED Light Qty 1 
(23.6")


� Shelf Back Panel Qty 1 
(43.9*2.5*0.2")



A

M6 Screw Qty 17 (M6*0.63")

B

M8 Screw Qty 36 (M8*0.63")

C

M4 Screw Qty 14 (M4*0.39")

D

4x4 Allen key Qty 1
(0.16*0.16*2.44”)

G

Spring Washer φ0.24" Qty 17

E

5x5 Allen key Qty 1
(0.2*0.2*3.15”)

F

3M Cable Clip Qty 5
(0.69*2.56”) 

H

Spring Washer φ0.31" Qty 36

4



Tool Hook (Type U) Qty 5 Tool Hook (Type V) Qty 2 Tool Hook (Type W) Qty 2

Tool Hook (Type X) Qty 5 Tool Hook (Type Y) Qty 2 Tool Hook (Type Z) Qty 2

5



Assemble leg frames       
in between metal 
brackets       using 
fixings       and       .
Important Ensure the 
threaded holes in legs 
       are located at the 
back of the table top      .

Assemble metal 
brackets        to the 
underside of table top
        using fixings      and
      .

B

B
H

H

B

B

H

H

6

STEP 1 

STEP 2

�










�

� �

�



�

E

5x5 Qty 1

H

Washer φ0.31 Qty 16

B

M8 Screw Qty 16

E

5x5 Qty 1

H

Washer φ0.31 Qty 16

B

M8 Screw Qty 16

B
H

Note: Holes must be located at the back of the table.

SHOWN UPSIDE DOWN

SHOWN UPSIDE DOWN

Underside

Front(Drawer)

Front

Back

Back

�


�

�

�

�

B
H

�

Underside 

B H

�



Assemble rear stretcher 
      to the back of leg 
frames      using fixings 
      and      .B H

�

�

Screw height adjustable feet
into the ends of leg frames        .
With help turn the table over 
and adjust the feet to achieve 
a stable base.
      Warning the desk is heavy, 
li� with care.

7

STEP 3

STEP 4

E

5x5 Qty 1

H

Washer φ0.31 Qty 4

B

M8 Screw Qty 4

SHOWN UPSIDE DOWN

B
H

B
H

�

�

�




Front

Back

�
�

�

�
�

Adjust to achieve stable posi�on.



8

�

�

�

G

Washer φ0.24 Qty 4

D

4x4 Qty 1

A

M6 Screw Qty 4

D

4x4 Qty 1

G

Washer φ0.24 Qty 8

A

M6 Screw Qty 8

Front

Assemble pegboard 
supports        and        to 
the underside of table 
top        using fixings
       and       .

STEP 5

�




�

A G
A
G

With help, locate 
pegboards        in 
between supports        
and        . 
Secure fixings      and      .A G

Front

Back

STEP 6

�
�

�

SHOWN FROM BACK

�

� �

�

� A

A

A

A G

G

G

G

A
G

A
G



Locate shelf into posi�on between 
pegboard supports        and        . 
Secure using fixings        and        .
a. Fixings are located through 
shelf side panels        and        .
b. Also through shelf         into the 
top peg board        .

Assemble Shelf.
a. Assemble shelf back 
panel         and shelf         
together using fixings       .
b. Assemble shelf side 
panels         and         using 
fixings       .


� 




� 
�

�

�

� �


� 
�




�

9

STEP 7

STEP 8

C

M4 Screw Qty 14

E

5x5 Qty 1


�


�

�






�





�


�

A G

GA

A

G

Washer φ0.24 Qty 5

D

4x4 Qty 1

A

M6 Screw Qty 5

b.

b.

a.

C

C

C
C

C C

G

�

a.

C


� 



C

C


�


�
�






�


�


�







a. A�ach magnets to 
LED light        . 
Locate the light to the 
underside of shelf        .
b. Use self adhesive 
cable clips       for cable 
management.
c. Locate tool hooks 
into the peg boards as 
required.

10

STEP 9

�





a.

c.

b.

F

�

magnets

magnets

Cables

Peel off

F

F

3M Cable Clip Qty 5

Z

Tool Hook (Type Z) Qty 2

Y

Tool Hook (Type Y) Qty 2

X

Tool Hook (Type X) Qty 5

W

Tool Hook (Type W) Qty 2

V

Tool Hook (Type V) Qty 2

U

Tool Hook (Type U) Qty 5

�



If you have ques�ons regarding the opera�on of your purchase, or in the unlikely event you need to return the 
unit because it is faulty or is no longer wanted, please contact our product returns department at 
customerservice@forwardindustries.com, or 561-465-0030, Op�on 0. 

Address: Forward Industries, 105 South Narcissus Avenue Suite 412, West Palm Beach, FL 33401

11

STEP 10

Certification

Assembly is complete


